

Some Linear Generating Relations Involving Two Polynomials of Bedient

M.I.Qureshi^a, Shabana Khan^b, Deepak Kumar Kabra^c and Yasmeeen^d

^{a,b}*Department of Applied Sciences and Humanities, Faculty of Engineering and Technology*

Jamia Millia Islamia (A Central University), New Delhi-110025, India

^c*Department of Basic and Applied Sciences, M. L. V. Textile and Engineering College, Bhilwara, Rajasthan-311001, India*

^d*Department of Mathematics, Government College, Kota, Rajasthan-324001, India
miqureshi_delhi@yahoo.co.in, areenamalik30@gmail.com, dkabra20@gmail.com &*

yasmeeen_kth@yahoo.co.in

Abstract

In this paper, we obtain some linear generating functions associated with even and odd degree polynomials of Bedient by using series decomposition technique, in terms of sum of two Kampé de Fériet's double hypergeometric functions with suitable convergence conditions.

Subject class [2010 MSC (AMS)]:Primary: 33C47; Secondary: 33C65, 33C70.

Keywords: Generating relation, Hypergeometric functions, Appell function, Kampé de Fériet's function.

1 INTRODUCTION AND PRELIMINARIES

Throughout the present work, we use the following standard notations:

$\mathbb{N} := \{1, 2, 3, \dots\}$, $\mathbb{N}_0 := \{0, 1, 2, 3, \dots\} = \mathbb{N} \cup \{0\}$ and $\mathbb{Z}^- := \{-1, -2, -3, \dots\} = \mathbb{Z}_0^- \setminus \{0\}$.

Here, as usual, \mathbb{Z} denotes the set of integers, \mathbb{R} denotes the set of real numbers, \mathbb{R}_+ , \mathbb{R}_- denote the sets of positive and negative real numbers respectively and \mathbb{C} denotes the set of complex numbers.

The Pochhammer symbol (or the shifted factorial) $(\lambda)_\nu$ ($\lambda, \nu \in \mathbb{C}$) is defined, in terms of the familiar Gamma function, by

$$(1.1) \quad (\lambda)_\nu := \frac{\Gamma(\lambda + \nu)}{\Gamma(\lambda)} = \begin{cases} 1 & (\nu = 0; \lambda \in \mathbb{C} \setminus \{0\}) \\ \lambda(\lambda + 1) \dots (\lambda + \nu - 1) & (\nu = n \in \mathbb{N}; \lambda \in \mathbb{C}) \end{cases}$$

it being understood *conventionally* that $(0)_0 = 1$ and assumed tacitly that the Gamma quotient exists.

The following results will be required in our present investigations:

In our analysis following identity of Srivastava [19, p.4] plays an important role

$$(1.2) \quad \sum_{m,n=0}^{\infty} f(m+n) \frac{x^m y^n}{m!n!} = \sum_{N=0}^{\infty} f(N) \frac{(x+y)^N}{N!}$$

The generalized hypergeometric function of one variable with p numerator parameters and q denominator parameters is defined by

$$(1.3) \quad {}_pF_q \left[\begin{matrix} \alpha_1, \alpha_2, \dots, \alpha_p; \\ \beta_1, \beta_2, \dots, \beta_q; \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n (\alpha_2)_n \dots (\alpha_p)_n}{(\beta_1)_n (\beta_2)_n \dots (\beta_q)_n} \frac{z^n}{n!}.$$

Here p and q are positive integers or zero (interpreting an empty product as 1), and we assume that the variable z , the numerator parameters $\alpha_1, \alpha_2, \dots, \alpha_p$ and the denominator parameters $\beta_1, \beta_2, \dots, \beta_q$ take on complex values, provided that $\beta_j \neq 0, -1, -2, \dots; j = 1, 2, \dots, q$.

Supposing that none of the numerator parameters is zero or a negative integer (otherwise the question of convergence will not arise), and with the usual restriction on β_j , the ${}_pF_q$ series in (1.3):

- (i) converges for $|z| < \infty$ if $p \leq q$,
- (ii) converges for $|z| < 1$, if $p = q + 1$,
- (iii) diverges for all $z, z \neq 0$, if $p > q + 1$.

Furthermore, if we set

$$(1.4) \quad \omega = \sum_{j=1}^q \beta_j - \sum_{j=1}^p \alpha_j,$$

it is known that the ${}_pF_q$ series, with $p = q + 1$, is

- (I) absolutely convergent for $|z| = 1$, if $\Re(\omega) > 0$,
- (II) conditionally convergent for $|z| = 1, |z| \neq 1$, if $-1 < \Re(\omega) \leq 0$,
- (III) divergent for $|z| = 1$, if $\Re(\omega) \leq -1$.

The notation $\Delta(\ell; \lambda)$ abbreviates the array of ℓ parameters given by

$$\frac{\lambda}{\ell}, \frac{\lambda + 1}{\ell}, \dots, \frac{\lambda + \ell - 1}{\ell}; \quad \ell = 1, 2, 3, 4, \dots$$

First Bedient's polynomials [14, p.297 (1); 2, p.15 (2.5)] are given by

$$(1.5) \quad R_n(\beta, \gamma; x) = \frac{(\beta)_n}{n!} (2x)^n {}_3F_2 \left[\begin{matrix} \Delta(2; -n), \gamma - \beta; \\ \gamma, 1 - \beta - n; \end{matrix} \frac{1}{x^2} \right]$$

Second Bedient's polynomials [14, p.297 (2); 2, p.44 (3.4)] are given by

$$(1.6) \quad G_n(\alpha, \beta; x) = \frac{(\alpha)_n (\beta)_n}{n! (\alpha + \beta)_n} (2x)^n {}_3F_2 \left[\begin{matrix} \Delta(2; -n), 1 - \alpha - \beta - n; \\ 1 - \alpha - n, 1 - \beta - n; \end{matrix} \frac{1}{x^2} \right]$$

First Bedient's polynomials R_n [14, p.297 (4)] are also defined by

$$(1.7) \quad \sum_{n=0}^{\infty} R_n(\beta, \gamma; x) t^n = (1 - 2xt)^{-\beta} {}_2F_1 \left[\begin{matrix} \beta, \gamma - \beta; \\ \gamma; \end{matrix} \frac{-t^2}{1 - 2xt} \right]$$

where $|xt| < \frac{1}{2}$ and $\left| \frac{-t^2}{1-2xt} \right| < 1$ and $\gamma \neq 0, -1, -2, -3, \dots$

Or

$$(1.8) \quad \sum_{n=0}^{\infty} R_n(\beta, \gamma; x)t^n = \sum_{m,n=0}^{\infty} \frac{(\beta)_{m+n}(\gamma - \beta)_n(2xt)^m(-t^2)^n}{(\gamma)_n m! n!}$$

Second Bedient's polynomials G_n [14, p.298 (6)] are also defined by

$$(1.9) \quad \sum_{n=0}^{\infty} G_n(\alpha, \beta; x)t^n = {}_2F_1 \left[\begin{matrix} \alpha, & \beta; \\ \alpha + \beta; \end{matrix} 2xt - t^2 \right] = \sum_{N=0}^{\infty} \frac{(\alpha)_N(\beta)_N}{(\alpha + \beta)_N N!} (2xt - t^2)^N$$

where $|2xt - t^2| < 1$ and $\alpha + \beta \neq 0, -1, -2, -3, \dots$

Now using Srivastava's identity (1.2) in the right hand side of equation (1.9), we get

$$(1.10) \quad \sum_{n=0}^{\infty} G_n(\alpha, \beta; x)t^n = \sum_{m,n=0}^{\infty} \frac{(\alpha)_{m+n}(\beta)_{m+n}(2xt)^m(-t^2)^n}{(\alpha + \beta)_{m+n} m! n!}.$$

The Kampé de Fériet's double hypergeometric function of higher order in the modified notation of Srivastava and Panda [22, p.423 (26), 424 (27)], is given by

$$(1.11) \quad F_{j:m;n}^{p;q;k} \left[\begin{matrix} (a_p) : (b_q); (d_k); \\ (g_j) : (e_m); (h_n); \end{matrix} x, y \right] = \sum_{r,s=0}^{\infty} \frac{\prod_{i=1}^p (a_i)_{r+s} \prod_{i=1}^q (b_i)_r \prod_{i=1}^k (d_i)_s}{\prod_{i=1}^j (g_i)_{r+s} \prod_{i=1}^m (e_i)_r \prod_{i=1}^n (h_i)_s} \frac{x^r y^s}{r! s!},$$

where (a_p) abbreviates the array of p parameters given by a_1, a_2, \dots, a_p with similar interpretations for $(b_q), (d_k)$ et cetera and for convergence of double hypergeometric series(1.11), we have

- (i) $p + q < j + m + 1, p + k < j + n + 1, |x| < \infty$ and $|y| < \infty$ or
(ii) $p + q = j + m + 1, p + k = j + n + 1,$ and

$$\begin{cases} |x|^{\frac{1}{p-j}} + |y|^{\frac{1}{p-j}} < 1, & \text{if } p > j \\ \max\{|x|, |y|\} < 1, & \text{if } p \leq j. \end{cases}$$

The Appell's double hypergeometric functions F_1, F_2, F_3 and F_4 [21, p.53 (4,5,6,7)] are denoted by $F_{1:0;0}^{1:1;1}, F_{0:1;1}^{1:1;1}, F_{1:0;0}^{0:2;2}$ and $F_{0:1;1}^{2:0;0}$ respectively.

The idea of separation of a power series into its even and odd terms [21, p.200 (1), p.214 Q.N.8; see also 20, p.196], exhibited by the elementary identity

$$(1.12) \quad \sum_{n=0}^{\infty} \Psi(n) = \sum_{n=0}^{\infty} \Psi(2n) + \sum_{n=0}^{\infty} \Psi(2n + 1),$$

is at least as old as the series themselves.

$$(1.13) \quad \sum_{m,n=0}^{\infty} \Phi(m, n) = \sum_{m,n=0}^{\infty} \Phi(2m, 2n) + \sum_{m,n=0}^{\infty} \Phi(2m+1, 2n+1) + \\ + \sum_{m,n=0}^{\infty} \Phi(2m, 2n+1) + \sum_{m,n=0}^{\infty} \Phi(2m+1, 2n),$$

provided that above multiple series are absolutely convergent.

Motivated by the work of Barr [1], Carlson [3], MacRobert [6-7], Manocha [8], Chaudhary et al. [4,5,9], Qureshi and Ahmad [10], Qureshi, Quraishi and Pal [12], Qureshi, Yasmeen and Pathan [13], Qureshi, Kabra and Khan [11], Sharma [15-17] and Srivastava [18,20], we shall obtain some linear generating relations associated with Bedient's polynomials of even and odd degree.

2 MAIN GENERATING RELATIONS

Any values of parameters and variables leading to the results given in this section which do not make sense, are tacitly excluded (Suppose α, β, γ and x are real numbers), then

$$(2.1) \quad \sum_{n=0}^{\infty} R_{2n}(\beta, \gamma; x)t^n = F_{0:1;3}^{2:0;2} \left[\begin{array}{c} \Delta(2; \beta) : -; \Delta(2; \gamma - \beta); \\ - \quad \quad \quad : \frac{1}{2}; \frac{1}{2}, \Delta(2; \gamma); \end{array} \quad 4x^2t, t^2 \right] + \\ + \frac{\beta(\beta - \gamma)t}{\gamma} F_{0:1;3}^{2:0;2} \left[\begin{array}{c} \Delta(2; \beta + 1) : -; \Delta(2; \gamma - \beta + 1); \\ - \quad \quad \quad : \frac{1}{2}; \frac{3}{2}, \Delta(2; \gamma + 1); \end{array} \quad 4x^2t, t^2 \right],$$

where $|4x^2t|^{\frac{1}{2}} + |t^2|^{\frac{1}{2}} < 1$

$$(2.2) \quad \sum_{n=0}^{\infty} R_{2n+1}(\beta, \gamma; x)t^n = \frac{2\beta(\beta + 1)(\beta - \gamma)tx}{\gamma} \times \\ \times F_{0:1;3}^{2:0;2} \left[\begin{array}{c} \Delta(2; \beta + 2) : -; \Delta(2; \gamma - \beta + 1); \\ - \quad \quad \quad : \frac{3}{2}; \frac{3}{2}, \Delta(2; \gamma + 1); \end{array} \quad 4x^2t, t^2 \right] + \\ + 2\beta x F_{0:1;3}^{2:0;2} \left[\begin{array}{c} \Delta(2; \beta + 1) : -; \Delta(2; \gamma - \beta); \\ - \quad \quad \quad : \frac{3}{2}; \frac{1}{2}, \Delta(2; \gamma); \end{array} \quad 4x^2t, t^2 \right],$$

where $|4x^2t|^{\frac{1}{2}} + |t^2|^{\frac{1}{2}} < 1$

$$(2.3) \quad \sum_{n=0}^{\infty} G_{2n}(\alpha, \beta; x)t^n = F_{2:1;1}^{4:0;0} \left[\begin{array}{c} \Delta(2; \alpha), \Delta(2; \beta) : -; -; \\ \Delta(2; \alpha + \beta) \quad \quad \quad : \frac{1}{2}; \frac{1}{2}; \end{array} \quad 4x^2t, t^2 \right] - \\ - \frac{\alpha\beta t}{(\alpha + \beta)} F_{2:1;1}^{4:0;0} \left[\begin{array}{c} \Delta(2; \alpha + 1), \Delta(2; \beta + 1) : -; -; \\ \Delta(2; \alpha + \beta + 1) \quad \quad \quad : \frac{1}{2}; \frac{3}{2}; \end{array} \quad 4x^2t, t^2 \right],$$

where $|4x^2t|^{\frac{1}{2}} + |t^2|^{\frac{1}{2}} < 1$

$$\begin{aligned}
 & \sum_{n=0}^{\infty} G_{2n+1}(\alpha, \beta; x)t^n = -\frac{2x\alpha(\alpha+1)\beta(\beta+1)t}{(\alpha+\beta)(\alpha+\beta+1)} \times \\
 & \times F_{2:1;1}^{4:0;0} \left[\begin{matrix} \Delta(2; \alpha+2), \Delta(2; \beta+2) : -; -; \\ \Delta(2; \alpha+\beta+2) \quad \quad \quad : \frac{3}{2}; \frac{3}{2}; \end{matrix} \quad 4x^2t, t^2 \right] + \\
 (2.4) \quad & + \frac{2x\alpha\beta}{(\alpha+\beta)} F_{2:1;1}^{4:0;0} \left[\begin{matrix} \Delta(2; \alpha+1), \Delta(2; \beta+1) : -; -; \\ \Delta(2; \alpha+\beta+1) \quad \quad \quad : \frac{3}{2}; \frac{1}{2}; \end{matrix} \quad 4x^2t, t^2 \right],
 \end{aligned}$$

where $|4x^2t|^{\frac{1}{2}} + |t^2|^{\frac{1}{2}} < 1$.

3 DERIVATIONS

To prove the generating relations (2.1) and (2.2), we proceed as follows:

$$(3.1) \quad \sum_{n=0}^{\infty} R_n(\beta, \gamma; x)t^n = \sum_{m,n=0}^{\infty} \frac{(\beta)_{m+n}(\gamma-\beta)_n(2xt)^m(-t^2)^n}{(\gamma)_nm!n!}$$

Using series identities (1.12) and (1.13) in equation (3.1), we get

$$\begin{aligned}
 & \sum_{n=0}^{\infty} R_{2n}(\beta, \gamma; x)t^{2n} + \sum_{n=0}^{\infty} R_{2n+1}(\beta, \gamma; x)t^{2n+1} = \\
 & \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(\frac{\gamma-\beta}{2})_n(\frac{\gamma-\beta+1}{2})_n(4x^2t^2)^m(t^2)^{2n}}{(\frac{1}{2})_m(m!)(\frac{1}{2})_n(n!)(\frac{\gamma}{2})_n(\frac{\gamma+1}{2})_n} - \frac{\beta(\beta+1)(\gamma-\beta)2xt^3}{\gamma} \times \\
 & \times \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+2}{2})_{m+n}(\frac{\beta+3}{2})_{m+n}(\frac{\gamma-\beta+1}{2})_n(\frac{\gamma-\beta+2}{2})_n(4x^2t^2)^m(t^2)^{2n}}{(\frac{3}{2})_mm!(\frac{3}{2})_nn!(\frac{\gamma+1}{2})_n(\frac{\gamma+2}{2})_n} - \frac{\beta(\gamma-\beta)t^2}{\gamma} \times \\
 & \times \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+1}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(\frac{\gamma-\beta+1}{2})_n(\frac{\gamma-\beta+2}{2})_n(4x^2t^2)^m(t^2)^{2n}}{(\frac{1}{2})_mm!(\frac{3}{2})_nn!(\frac{\gamma+1}{2})_n(\frac{\gamma+2}{2})_n} + 2x\beta t \times \\
 (3.2) \quad & \times \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+1}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(\frac{\gamma-\beta}{2})_n(\frac{\gamma-\beta+1}{2})_n(4x^2t^2)^m(t^2)^{2n}}{(\frac{3}{2})_mm!(\frac{1}{2})_nn!(\frac{\gamma}{2})_n(\frac{\gamma+1}{2})_n}
 \end{aligned}$$

Put $t = iT$ or $t^2 = -T^2$ in equation (3.2) and equating real and imaginary parts, we get

$$\sum_{n=0}^{\infty} R_{2n}(\beta, \gamma; x)(-T^2)^n = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(\frac{\gamma-\beta}{2})_n(\frac{\gamma-\beta+1}{2})_n(-4x^2T^2)^m(T)^{4n}}{(\frac{1}{2})_m(m!)(\frac{1}{2})_n(n!)(\frac{\gamma}{2})_n(\frac{\gamma+1}{2})_n} +$$

$$(3.3) \quad + \frac{\beta(\gamma - \beta)T^2}{\gamma} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+1}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (\frac{\gamma-\beta+1}{2})_n (\frac{\gamma-\beta+2}{2})_n (-4x^2T^2)^m (T)^{4n}}{(\frac{1}{2})_m m! (\frac{3}{2})_n n! (\frac{\gamma+1}{2})_n (\frac{\gamma+2}{2})_n}$$

and

$$(3.4) \quad \sum_{n=0}^{\infty} R_{2n+1}(\beta, \gamma; x) (-T^2)^n = \frac{2\beta(\beta+1)(\gamma-\beta)xT^2}{\gamma} \times \\ \times \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+2}{2})_{m+n} (\frac{\beta+3}{2})_{m+n} (\frac{\gamma-\beta+1}{2})_n (\frac{\gamma-\beta+2}{2})_n (-4x^2T^2)^m (T)^{4n}}{(\frac{3}{2})_m m! (\frac{3}{2})_n n! (\frac{\gamma+1}{2})_n (\frac{\gamma+2}{2})_n} + \\ + 2x\beta \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+1}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (\frac{\gamma-\beta}{2})_n (\frac{\gamma-\beta+1}{2})_n (-4x^2T^2)^m (T)^{4n}}{(\frac{3}{2})_m m! (\frac{1}{2})_n n! (\frac{\gamma}{2})_n (\frac{\gamma+1}{2})_n}$$

Put $T = i\sqrt{t}$ or $T^2 = -t$ in equations (3.3) and (3.4), we have

$$(3.5) \quad \sum_{n=0}^{\infty} R_{2n}(\beta, \gamma; x) (t)^n = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta}{2})_{m+n} (\frac{\beta+1}{2})_{m+n} (\frac{\gamma-\beta}{2})_n (\frac{\gamma-\beta+1}{2})_n (4x^2t)^m (t^2)^n}{(\frac{1}{2})_m (m!) (\frac{1}{2})_n (n!) (\frac{\gamma}{2})_n (\frac{\gamma+1}{2})_n} + \\ + \frac{\beta(\beta-\gamma)t}{\gamma} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+1}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (\frac{\gamma-\beta+1}{2})_n (\frac{\gamma-\beta+2}{2})_n (4x^2t)^m (t^2)^n}{(\frac{1}{2})_m m! (\frac{3}{2})_n n! (\frac{\gamma+1}{2})_n (\frac{\gamma+2}{2})_n}$$

Now applying the definition of Kampé de Fériet's double hypergeometric function (1.11), we get the desired result (2.1).

and

$$(3.6) \quad \sum_{n=0}^{\infty} R_{2n+1}(\beta, \gamma; x) (t)^n = \frac{2\beta(\beta+1)(\beta-\gamma)tx}{\gamma} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+2}{2})_{m+n} (\frac{\beta+3}{2})_{m+n} (\frac{\gamma-\beta+1}{2})_n (\frac{\gamma-\beta+2}{2})_n (4x^2t)^m (t^2)^n}{(\frac{3}{2})_m (m!) (\frac{3}{2})_n (n!) (\frac{\gamma+1}{2})_n (\frac{\gamma+2}{2})_n} + \\ + 2\beta x \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\beta+1}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (\frac{\gamma-\beta}{2})_n (\frac{\gamma-\beta+1}{2})_n (4x^2t)^m (t^2)^n}{(\frac{3}{2})_m m! (\frac{1}{2})_n n! (\frac{\gamma}{2})_n (\frac{\gamma+1}{2})_n}$$

Now applying the definition of Kampé de Fériet's double hypergeometric function (1.11), we get the desired result (2.2).

To prove the results (2.3) and (2.4), we proceed as follows:

$$(3.7) \quad \sum_{n=0}^{\infty} G_n(\alpha, \beta; x) t^n = \sum_{m,n=0}^{\infty} \frac{(\alpha)_{m+n} (\beta)_{m+n} (2xt)^m (-t^2)^n}{(\alpha+\beta)_{m+n} m! n!}$$

Using series identities (1.12) and (1.13) in equation (3.7), we get

$$\begin{aligned}
 \sum_{n=0}^{\infty} G_{2n}(\alpha, \beta; x)t^{2n} + \sum_{n=0}^{\infty} G_{2n+1}(\alpha, \beta; x)t^{2n+1} &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha}{2})_{m+n}(\frac{\alpha+1}{2})_{m+n}(\frac{\beta}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(2x)^{2m}(t^2)^m(t^2)^{2n}}{(\frac{\alpha+\beta}{2})_{m+n}(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{1}{2})_m(m!)(\frac{1}{2})_n(n!)} \\
 &- \frac{2xt\alpha(\alpha+1)\beta(\beta+1)}{(\alpha+\beta)(\alpha+\beta+1)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+2}{2})_{m+n}(\frac{\alpha+3}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(\frac{\beta+3}{2})_{m+n}(2x)^{2m}(t^2)^m(t^2)^{2n}(t^2)}{(\frac{\alpha+\beta+2}{2})_{m+n}(\frac{\alpha+\beta+3}{2})_{m+n}(\frac{3}{2})_m m!(\frac{3}{2})_n n!} \\
 &- \frac{(\alpha)(\beta)t^2}{(\alpha+\beta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+1}{2})_{m+n}(\frac{\alpha+2}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(2x)^{2m}(t^2)^m(t^2)^{2n}}{(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{\alpha+\beta+2}{2})_{m+n}(\frac{1}{2})_m m!(\frac{3}{2})_n n!} + \\
 (3.8) \quad &+ \frac{2xt(\alpha)(\beta)}{(\alpha+\beta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+1}{2})_{m+n}(\frac{\alpha+2}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(2x)^{2m}(t^2)^m(t^2)^{2n}}{(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{\alpha+\beta+2}{2})_{m+n}(\frac{3}{2})_m m!(\frac{1}{2})_n n!}
 \end{aligned}$$

Put $t = iT$ or $t^2 = -T^2$ in equation (3.8) and equating real and imaginary parts, we get

$$\begin{aligned}
 \sum_{n=0}^{\infty} G_{2n}(\alpha, \beta; x)(-T^2)^n &= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha}{2})_{m+n}(\frac{\alpha+1}{2})_{m+n}(\frac{\beta}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(-4x^2T^2)^m(-T^2)^{2n}}{(\frac{\alpha+\beta}{2})_{m+n}(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{1}{2})_m(m!)(\frac{1}{2})_n(n!)} + \\
 (3.9) \quad &+ \frac{(\alpha)(\beta)T^2}{(\alpha+\beta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+1}{2})_{m+n}(\frac{\alpha+2}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(-4x^2T^2)^m(-T^2)^{2n}}{(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{\alpha+\beta+2}{2})_{m+n}(\frac{1}{2})_m m!(\frac{3}{2})_n n!}
 \end{aligned}$$

and

$$\begin{aligned}
 &\sum_{n=0}^{\infty} G_{2n+1}(\alpha, \beta; x)(-T^2)^n = \\
 &= \frac{2\alpha(\alpha+1)\beta(\beta+1)xT^2}{(\alpha+\beta)(\alpha+\beta+1)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+2}{2})_{m+n}(\frac{\alpha+3}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(\frac{\beta+3}{2})_{m+n}(-4x^2T^2)^m(-T^2)^{2n}}{(\frac{\alpha+\beta+2}{2})_{m+n}(\frac{\alpha+\beta+3}{2})_{m+n}(\frac{3}{2})_m(m!)(\frac{3}{2})_n(n!)} + \\
 (3.10) \quad &+ \frac{2x\alpha\beta}{(\alpha+\beta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+1}{2})_{m+n}(\frac{\alpha+2}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(\frac{\beta+2}{2})_{m+n}(-4x^2T^2)^m(-T^2)^{2n}}{(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{\alpha+\beta+2}{2})_{m+n}(\frac{3}{2})_m(m!)(\frac{1}{2})_n(n!)}
 \end{aligned}$$

Put $T = i\sqrt{t}$ or $T^2 = -t$ in equations (3.9) and (3.10), we have

$$\sum_{n=0}^{\infty} G_{2n}(\alpha, \beta; x)t^n = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha}{2})_{m+n}(\frac{\alpha+1}{2})_{m+n}(\frac{\beta}{2})_{m+n}(\frac{\beta+1}{2})_{m+n}(4x^2t)^m(t^2)^n}{(\frac{\alpha+\beta}{2})_{m+n}(\frac{\alpha+\beta+1}{2})_{m+n}(\frac{1}{2})_m(m!)(\frac{1}{2})_n(n!)} +$$

$$(3.11) \quad + \frac{\alpha\beta(-t)}{(\alpha+\beta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+1}{2})_{m+n} (\frac{\alpha+2}{2})_{m+n} (\frac{\beta+1}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (4x^2t)^m (t^2)^n}{(\frac{\alpha+\beta+1}{2})_{m+n} (\frac{\alpha+\beta+2}{2})_{m+n} (\frac{1}{2})_m m! (\frac{3}{2})_n n!}$$

Now applying the definition of Kampé de Fériet's double hypergeometric function (1.11), we get the desired result (2.3) and

$$(3.12) \quad \sum_{n=0}^{\infty} G_{2n+1}(\alpha, \beta; x) t^n =$$

$$= -\frac{2\alpha(\alpha+1)\beta(\beta+1)xt}{(\alpha+\beta)(\alpha+\beta+1)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+2}{2})_{m+n} (\frac{\alpha+3}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (\frac{\beta+3}{2})_{m+n} (4x^2t)^m (t^2)^n}{(\frac{\alpha+\beta+2}{2})_{m+n} (\frac{\alpha+\beta+3}{2})_{m+n} (\frac{3}{2})_m (m!) (\frac{3}{2})_n (n!)} +$$

$$+ \frac{2x\alpha\beta}{(\alpha+\beta)} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\frac{\alpha+1}{2})_{m+n} (\frac{\alpha+2}{2})_{m+n} (\frac{\beta+1}{2})_{m+n} (\frac{\beta+2}{2})_{m+n} (4x^2t)^m (t^2)^n}{(\frac{\alpha+\beta+1}{2})_{m+n} (\frac{\alpha+\beta+2}{2})_{m+n} (\frac{3}{2})_m (m!) (\frac{1}{2})_n (n!)}$$

Now applying the definition of Kampé de Fériet's double hypergeometric function (1.11), we get the desired result (2.4).

We conclude our present investigation, by observing that several other linear generating relations can be obtained from known generating relations, in analogous manner.

References

- [1] Barr, G. E.; The integration of generalized hypergeometric functions, *Math. Proc. Cambridge Philos. Soc.*, 65(3)(1969), 591-595.
- [2] Bedient, P.E.; *Polynomials related to Appell functions of two variables*, Ph.D. Thesis, Univ. of Michigan, 1959.
- [3] Carlson, B. C.; Some extensions of Lardner's relations between ${}_0F_3$ and Bessel functions, *SIAM J. Math. Anal.*, 1(1970), 232-242.
- [4] Chaudhary, W. M., Qureshi, M. I., Kabra, D. K. and Khan, Shabana; Some Bilinear Generating Relations Involving Classical Hermite Polynomials Via Mehler's Formula, *South East Asian J. of Math. & Math. Sci.*, 13(2)(2017), 27-36.
- [5] Chaudhary, W. M., Qureshi, M. I., Kabra, D. K. and Khan, Shabana; Some Linear Generating Relations Involving Classical Hermite Polynomials Via Brafman's Results, *Journal of the Calcutta Mathematical Society*, 13(2)(2017), 143-150.
- [6] MacRobert, T. M.; Integrals involving a modified Bessel function of the second kind and an E-function, *Proc. Glasgow Math. Assoc.*, 2(1954), 93-96.
- [7] MacRobert, T. M.; Multiplication formulae for the E-functions regarded as functions of their parameters, *Pacific J. Math.*, 9(1959), 759-761.
- [8] Manocha, H. L.; Generating functions for Jacobi and Laguerre polynomials, *Mat. Vesnik*, 11(26)(1974), 43-47.

- [9] Mohd, Chaudhary Wali, Qureshi, M. I. and Pathan, M. A.; New generating functions for hypergeometric polynomials, *Indian J. Pure Appl. Math.*, 16(2)(1985), 157-164.
- [10] Qureshi, M. I. and Ahmad Nadeem ; Linear generating relations associated with Konhauser, Madhekar-Thakare, Jacobi and generalized Laguerre polynomials, *South East Asian J. Math. & Math. Sc.* 4(3)(2006), 43 – 53.
- [11] Qureshi, M. I., Kabra, D. K. and Khan, Shabana; Some Linear Generating Relations Associated with Even and Odd Degree Polynomials of Lagrange and Subuhi, *Asia Pacific Journal of Mathematics*, 4(2)(2017), 122-136.
- [12] Qureshi, M. I., Quraishi, Kaleem A. and Pal, Ram; Some Results Involving Gould-Hopper Polynomials, *Elixir Appl. Math.*, 62(2013), 17838-17841.
- [13] Qureshi, M. I., Yasmeen and Pathan, M. A.; Linear and bilinear generating functions involving Gould-Hopper polynomials, *Math. Sci. Res. J.*, 6(9)(2002), 449-456.
- [14] Rainville, E. D.; *Special Functions*, The Macmillan Co. Inc., New York 1960; Reprinted by Chelsea Publ. Co. Bronx, New York, 1971.
- [15] Sharma, B. L.; A formula for hypergeometric series and its application, *An. Univ. Timisoara Ser. Sti. Mat.*, 12(1974), 145 – 154.
- [16] Sharma B. L.; Some new formulae for hypergeometric series, *Kyungpook Math. J.*, 16(1)(1976), 95-99.
- [17] Sharma, B. L.; New generating functions for the Gegenbauer and the Hermite polynomials, *Simon Stevin (A quarterly Journal of Pure and Applied Mathematics)*, 54(3 – 4)(1980), 129-134.
- [18] Srivastava, H. M.; The integration of generalized hypergeometric functions, *Proc. Cambridge Philos. Soc.*, 62(1966), 761-764.
- [19] Srivastava, H. M.; Certain double integrals involving hypergeometric functions, *Jñānābha, Sect. A*, 1(1971), 1-10.
- [20] Srivastava, H. M.; A note on certain identities involving generalized hypergeometric series, *Nederl Akad. Wetensch. Proc. Ser. A 82=Indag. Math.*, 41(1979), 191-201.
- [21] Srivastava, H. M. and Manocha, H. L.; “*A Treatise on Generating functions*”, Halsted Press (Ellis Horwood Limited, Chichester, U. K.) John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1984.
- [22] Srivastava, H. M. and Panda, R.; An integral representation for the product of two Jacobi polynomials, *J. London Math. Soc.*, 12(2)(1976), 419-425.